DELHI PUBLIC SCHOOL BULANDSHAHR

Holiday Homework (Session: 2025-2026)
Subject: English

Class: IX

General Instructions
Read the following instructions very carefully and strictly follow them:

I This worksheet contains four sections:
Section A: Reading Skills
Section B: Writing Skills
Section C: Grammar
Section D: Literature Textbook and Five Previous year questions
1. Attempt all questions based on specific instructions for each part. Write the correct question number and
part thereof in your notebook.
1. Separate instructions are given with each question/part, wherever necessary.
V. Adhere to the prescribed word limit while answering the questions.

SECTION A: READING SKILLS (10 marks)

1. Read the passage carefully.

1. The invention of the gas turbine by Frank Whittle in England and Hans von Ohain in Germany in 1939 signalled the
beginning of jet transport. Although the French engineer Lorin had visualized the concept of jet propulsion more than
25 years earlier, it took improved materials and the genius of Whittle and von Ohain to recognise the advantages that a
gas turbine offered over a piston engine, including speeds in excess of 350 miles per hour. The progress from the first
flights of liquid propellant rocket and jet-propelled aircraft in 1939 to the first faster-than-sound (supersonic) manned
airplane (the Bell X-I) in 1947 happened in less than a decade. This then led very rapidly to a series of supersonic
fighters and bombers, the first of which became operational in the 1950s. World War Il technology foundations and
emerging Cold War imperatives then led us into space with the launch of Sputnik in 1957 and the placing of the first
man on the moon only 12 years later -a mere 24 years, after the end of World War Il

2. Now a hypersonic flight can take you anywhere in the planet in less than four hours British Royal Air Force and
Royal Navy, and the air forces of several other Countries are going to use a single engine cousin to the F/A -22 called
the F-35 Joint strike fighter These planes exhibit stealthy angles and Coatings that make it difficult for radar to detect
them, among aviation’s most cutting-edge advances in design. The V-22. Known as tilt rotor, part helicopter, Part
airplane, takes off vertically, then tits its engine forward for winged flight: It provides speed, three times the Payload
five times the range of the helicopters it meant to replace the new fighter, F/A -22 Raptor, with more than a million
parts shows a perfect amalgamation of stealth, speed avionics and agility.

3. It seems conventional forms, like the Predator and Global Hawk are becoming outdated, the stealthier unmanned
aerial vehicles (UAVSs) are in. They are shaped like kites, bats and boomerang, all but invisible to the enemy radar and
able to remain over hostile territory without any fear of getting grilled if shot down. Will the UAVs take away pilots’
jobs permanently? Can a computer-operated machine take a smarter and faster decision in a war-like situation? The
new free-flight concept will probably supplement the existing air traffic control system by computers on each plane to
map the altitude, route, weather and other planes; and a decade from now, there will be no use of radar any more.

4. How much bigger can the airplanes get? In the 1950s they got speed, in the 1980s they became stealthy, Now, they
are getting smarter thanks to computer automation. The change is quite huge: from the four-seater to the A380
airplane. It seems we are now trading speed for size as we build a new superjumbo jet, the 555-seater A380, which
will fly at almost the same speed of the Boeing 707, introduced half a century ago, but with an improved capacity,
range, greater fuel economy. A few years down the line will come the truly larger model, to be known as 747X. In the
beginning of 2005, the A380, the world’s first fully double-decked superjumbo passenger jet, weighing 1.2 million
pounds, may carry a load of about 840 passengers.
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5. Barring the early phase, civil aviation has always lagged behind the military technologies (of jet engines,
lightweight composite materials, etc.). There are two fundamental factors behind the decline in commercial
aeronautics in comparison to military aeronautics. There is no collective vision of our future such as the one that drove
us in the past. There is also a need for a more aggressive pool of airplane design talents to maintain an industry that
continues to find a multibillion dollar-a-year market for its product can the history of aviation technology tell us
something about the future of aeronautics? Have we reached a final gate in our evolution to a mature technology in
aeronautics!

Based on the understanding of the above passage, answer the following questions. (10x1=10)
i. According to the first paragraph of the passage, which of the following statements is not false?

a) Prank Whittle and Hans von Ohain were the first to conceive of jet propulsion.

b) Supersonic fighter planes were first used in the Second World War.

¢) No man had travelled faster than sound until the 1950°s

d) The exploitation of jet propulsion for supersonic aviation has been remarkably fast.

ii. What year did the first faster-than sound (supersonic) manned airplane fly?

a) 1939 €)1957

b) 1947 d) 1969

iii. Which aircraft is known for its tilt-rotor capability, allowing it to take off vertically like a helicopter?
a) F-35 Joint Strike Fighter c) F/A-22 Raptor

b) V-22 Osprey d) Global Hawk

iv. Which was one of the major technological advances in aviation during the 1980°s?

a) Increased speed c) Hypersonic flight

b) Stealth technology d) Vertical take-off

v. "Stealthisto __ as encryption is to privacy.”

vi. Who visualised the concept of jet propulsion more than 25 years before the invention of the gas turbine?

vii. Assertion: The Bell X-1 was the first faster-than-sound manned airplane.
Reason: It was developed within a decade after the first jet-propelled aircraft flights in 1939.
a) Both assertion and reason are correct, and the reason is the correct explanation for the assertion.
b) Both assertion and reason are correct, but the reason is not the correct explanation for the assertion.
¢) The assertion is correct, but the reason is incorrect.
d) The assertion is incorrect, but the reason is correct.

viii. Assertion: The Bell X-1 was the first faster-than-sound manned airplane.
Reason: It was developed within a decade after the first jet-propelled aircraft flights in 1939.
a) Both assertion and reason are correct, and the reason is the correct explanation for the assertion.
b) Both assertion and reason are correct, but the reason is not the correct explanation for the assertion.
c) The assertion is correct, but the reason is incorrect.
d) The assertion is incorrect, but the reason is correct.

ix. What is the primary difference between civil and military aviation development?

X. The word which means the same as ‘standard’ in para 3 is

SECTION B: WRITING SKILLS (8 marks)

2. As the Secretary of the Environment Club of your school, draft a notice informing students about a tree plantation
drive in your school playground. Include necessary details. (Word limit: 50 words) 3)
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3. Create a dialogue between two classmates, Ananya and Kabir, discussing their roles in the upcoming Annual Day
function. Ananya is performing a dance, and Kabir is anchoring the event. Use around 100 words. You may use the
given cues. 5)
Ananya: Hey Kabir! I heard you're anchoring the Annual Day this year. That’s amazing!

Kabir: Hi Ananya! Yes, I am! I’'m super nervous though. It’s my first time anchoring such a big event.

SECTION C: GRAMMAR (10 marks)

4.a Fill in the blanks by choosing the most appropriate option from the ones given below. (3x1=3)
The growing concern for the environment (a) people to adopt more sustainable habits. Governments (b)
implement policies that (c) promote green practices.

(a) i) encouraged i) encourages iii) encourage iv) encouraging
(b) i) should ii) must iii) might iv) could
(c) i) will ii)is iii)was iv)were

4.b The following sentences have not been edited. There is one error in each sentence. Write the incorrect word and

the correct word against each sentence. The first one has been done for you as an example. (4x1=4)
Incorrect word Correct word

The team of scientists were conducting an experiment were was

in their laboratory. They were hoping to discovers new methods a)

to improve the treatment for cancer. The data that they was collected was b)

analyzed thoroughly, but the results have inconclusive and C)

had not provide any clear answers to the problem. d)

4 c. Do as directed. (3x1=3)

(1) Rearrange the following jumbled words/phrases in the given dialogues to create a meaningful sentence.

Employee: We are considering implementing a new project a management tool to improve team productivity.

Manager: That sounds promising! How will this tool benefit our workflow?

Employee: WILL/A/NEW/ IMPLEMENTING/PROJECT/ MANAGEMENT/ TOOL/ ENHANCE
/COMMUNICATION

(11) Report the dialogues to complete the paragraph that follows.

Lily: What are you doing today?

Violet: I'm taking my friends to the stadium to play basketball. Would you like to attend?
Lily: Sure, that sounds like fun. What time?

Violet: We are meeting at noon. See you there.

Lily asked Violet what she was doing that day. Violet said that (a) and further asked her whether she would
like to attend. Lily said with certainty that (b) . Violet then said that they would be meeting at noon and hoped
to see her.
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SECTION D: LITERATURE (22 marks)

5. Read the extract given below and answer the questions that follow: (4x1=4)

I come from haunts of coot and hern,
I make a sudden sally

And sparkle out among the fern,

To bicker down a valley.

a) What imagery is used to describe the brook’s emergence from its source in the poem “The Brook™?

b) Examine how the phrase “to bicker down a valley” reflects the brook’s movement and personality.

c) What is the rhyme scheme in the stanza given above?

d) According to the extract, what does the term “haunts” mean?

6. Answer the following questions in 30-40 words each. (5x2=10)

a) How did the narrator's act of teaching her grandmother reflect the themes of empowerment and
intergenerational bonding in the story ‘How I Taught My Grandmother to Read’?

b) How does the poet describe the reaper's song in the poem “The Solitary Reaper”?
¢) What is the central dilemma faced by the speaker in the poem "The Road Not Taken"?
d) How does the speaker’s choice in The Road Not Taken reflect the theme of individuality and its consequences?

e) In what way did Duke’s actions contribute to Chuck’s emotional and physical rehabilitation, and what does this
suggest about the human-animal bond?

7. Answer the following question in 100 — 120 words. (8x1=8)

What values can we learn from the solitary reaper’s dedication to her work, and how does her song reflect the beauty
of simplicity and solitude?

8. PREVIOUS YEAR QUESTIONS

A. Read the extract given below and answer the following questions briefly
‘That day I should be able to read novel on my own. I want to be independent.’
a. What special day is being referred to?

b. What was the speaker keen to achieve?

c. Why was independence significant for the speaker?

e. What are the benefits of education that one can assess from the above stanza?

B. Answer the following questions in 30-40 words each.

1. Describe Duke’s meeting with Chuck the first time after he came out of the Kennel?

2. Music has no barriers. Although the poet didn’t understand the song but he enjoyed its mellifluousness. How did it
leave a lasting impression on the poet’s mind in the poem, ‘The Solitary Reaper’?

3.What is the refrain of the poem, ‘The Brook’ and what message does it convey about life?
C. Answer the following question in 100-120 words.

4. For learning, there is no age bar, says the grandmother. With reference to the given context, write how the words of
the grandmother can be an effective tool for ‘adult education’?
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DELHI PUBLIC SCHOOL, BULANDSHAHR

Holiday Homework Class IX
Sub - Mathematics
MCQ BASED QUESTIONS

1. When x13 + 1 is divided by x — 1, the remainder is : (a) 1 (b) -1 (c) 0 (d) 2

2. If x3 4+ 5x% + 10k leaves remainder —2x when divided by x2 + 2, then what is the value of k
2 (a) -2 (b) -1 (c) 1 (d) 2

3. 3. x* +xy3 + x3y + xz3 + y* + yz3 is divisible by :(a) (x — y) only (b) (x3 + y3 + z3)
only (c) both (x + y) and (x3 + y3 + z3) (d) None of the above

4. For what value of k, will the expression (3x3 — kx? + 4x + 16) be divisible by (x — k/2) ?
(@4(®)-4(c)2(d)o

5. When (x3 — 2x2 + px — q) is divided by (x? — 2x — 3), the remainder is (x — 6), What are
the values of p and q respectively ? (a) —2,—6 (b) 2, —6 (¢) —2,6 (d) 2,6

3 2
6. If % is a polynomial of degree 1 in x, then what are the values of a, b respectively?

(@) —1,—4 (b) —1,4 (c) 3,—4 (d) 3,4

7. Whena + b + ¢ + 3a*/3b?/3 + 3a?/3p/3 is divided by a'/3 + b/3 + c1/3, what is the
remainder? (a) 3a (b) 3b (c) 0 (d) c?/3

8. If the polynomials ax3 + 4x2 + 3x — 4 and x3 — 4x + a leave the same remainder when
divided by (x — 3), the value of a is: (a) 2 (b) —3/2 (c) -1 (d) 4

9. Let R, and R, be the remainders when the polynomials x3 + 2x? — 5ax — 7 and x? + ax? —
12x + 6 are divided by (x + 1) and (x — 2) respectively. If 2R; + R, = 6, the value of a is :
(@-2(b)1(c)-1(d)2

10.1f both (x — 2) and (x — 1/2) are factors of px? + 5x + 7, then: @) p = 2r (b)) p +r =0 (c)
p=r{d)pxr=1

11. If v/3™ = 81. Then, n is equal to
(@2 (b)4 ()6 (d)8

12. (64)_?2><G) equals
@; 1 (©4 ()16

13. —= -+ ! — + ! — is equal to
(216)3  (256) 4  (243)5

() =8 (b) 1 (c)105 (d)101

14. (4)°> x (0.5)* is equal to

@1 04 ©; @

1 1
15.Simplify : (6.25)2><(01.0144-)i+1

(0.027)3%(81)% B
(2)0.14 (b)1.4 (c)1 (d) 1.4

16. 43-5: 25 s the same as
@4:1 (b)2:1 (c)7:5 (d)7:10
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17.simplify : [V 2/?]4 K i/?r
() 5% (b)5* (c)5° (d)5™

n
f (243)§,32n+1 )

18.The value o gnan-i 1S

@1 (b9 (€3 (d)3"

19.1f x¥V* = (x+/x)*. then x is equal to
@> Oz ©; @3

3
20.1f 5v/5 x 53 + 57z = 5%+2_then the value of a is
(@4 (b)5 (c)6 (d) 8

CASE STYDY BASED QUESTION:

On one day, principal of a particular school visited the classroom. Class teacher was
teaching the concept of polynomial to students. He was very much impressed by her way of
teaching. To check, whether the students also understand the concept taught by her or not, he
asked various
guestions to students. Some of them are given below. Answer them.

Q1. Which one of the following is not a polynomial?

(@) 4x*+2x—-1 (b)y+@3ly) (c)x*-1 (d)y*+5y+1
Q2. The polynomial of the type ax? + bx + ¢, a =0 is called
(@) Linear polynomial (b) Quadratic polynomial

(c) Cubic polynomial  (d) Biquadratic polynomial

Q3. The value of k, if (x — 1) is a factor of 4x® + 3x* — 4x + k, is
@1 (-2 ()-3 (@3

Q4. If p(x) = x> — 2x* + 10, then value of p(-1) is

@-7 M1 (-1 @7

Q5. The number of zeroes of the polynomial x* + 5x + 6 is
@1 (2 ()3 (d)4

In the current scenario, people use such door whose top half part is made of glass and
bottom half part is wooden.

The glass portion of the door is having length and width in the ratio of 5 : 3. The wooden
frame around the glass portion adds 11 inches to the total width and 14 inches to the total
length. Consider the length of the glass portion as 5x inches:

On the basis of the above information, solve the following questions:

Q. 1. Find the total length of the glass portion of the door (in inches) is represented in terms
of x.

Q. 2. Find the total width of the glass portion of the door (in inches).

Q. 3. Write the polynomial representation of the area top half part of the door.

Q. 4. Find the zeroes of the polynomial representing the area.



ASSERTION REASON BASED QUESTION:
Each question consists of two statements, namely, Assertion (A) and Reason (R). For selecting
the correct answer, use the following code:
a) Both Assertion (A) and Reason (R) are true and Reason (R) is a correct explanation of
Assertion (A).
b) Both Assertion (A) and Reason (R) are true but Reason (R) is not a correct explanation
of Assertion (A).
c) Assertion (A) is true and Reason (R) is false.
d) Assertion (A) is false and Reason (R) is true.

QL. Assertion: \2 is a irrational number.
Reason: it can not be written inthe form of p/q.
The correct answeris:a/b/c/d
Q2.  Assertion: Decimal expansion of every rational number is only terminating.
Reason : Decimal expansion of every irrational number is terminating recurring
The correct answeris:a/b/c/d
Q3.  Assertion :the rationalizing factor of 2-+V5 is 2-V5
Reason: the product or quotient of non zero rational number with irrational number is
rational.
The correct answer is:a/b/c/d
Q4. Assertion: sum of two irrational numbers 5+V3 and 7+\3 is a irrational number.
Reason: if the product of two irraational numbers is rational the each one is called the
rationalizing factor of other.
The correct answeris:a/b/c/d
Q5.  Assertion :19°+19%=19
Reason: if a>0 be a real number and p and q be rational number then a"+a%=a"*
The correct answeris:a/b/c/d

PRACTICE BASED QUESTIONS
Q.1.Compute the value of 9x* + 4y? if xy = 6 and 3x + 2y = 12.

Q.2: Find five rational numbers between 3/5 and 4/5.

Q3. Find the remainder if p(x) = 3x® — 2x? - 4x + 10 is divided by g(x) = x - 1
Q4. Express 0.1 3 in p/q form.

Q5. Rationalise the denominator of 1/[7+33].

Q6. | Find the perimeter of a rectangle whose area is 25x* — 35x + 12.

Q7.Ifa= gfﬁ and b = \/‘g;g , then find the value of a® + b%.
Q8. Find the value of X* + y* + 2 — 3xyz if xX* + y* + 22 =83 and x + y + z = 15.

QO. If (x — 1/X) = 4, then evaluate (x* + 1/x%) and (x* + 1/x").

Q10 Find aif 22 + 4*= 2.2

Q11 Find the value of
1 1 1 1 1 1 1 1
+ + + + + + +
1+v2 V2++v3 V3+V4 V4+V5 V5+V6 V6+V7 V7+V8 VB+9

15
V10+v20+v40—V/5-v80’

Q12 Evaluate is being given that V' 5 = 2.236and vV 10 = 3.162




Q13 If x = 2 4+ /3, find the value of x? + 12
X

Q14 Write in ascending order V4,3/5,4/8

Q15 If x f f and y %ﬁ,thenﬁndx2+yz—10xy

Q16 If x = Y2XIEvP=d

N \/_ 2 then find the value of qx2 — 2px + q

Qu7Ifx=2+ 25 + 25, then find the value of x3 — 6x2 + 6x

(4 2) -5+ 2) (443 =

236+(7x2%%)+(5x2%7) 14

)G o

Q20Ifx=(2+ \/§)§ + (2 - \/§)% andy = (2 + \/§)% -2+ \/E)% then evaluate x2 + y?

Q18 Ifx = 3Y&

Q19 Prove that

136X136X136+64X64X64
136X136—136X64+64X64

Q21. Solve
Q22. Ifa? + b2+ c? =90 and a + b + ¢ = 20 then find the value of ab + bc + ca
Q23. If x + % = 9&xy = 4, find the value of x3 + %3

Q24. If x + 2 is a factor of x3 + 13x? + 32x + 20 then find the other factors.
Q25. 3x + 2y = 12 and xy = 6, Find the value of 9x? + 4y?
Q26. Factorize x3 — 8x? + 5x + 14

Q27. If the polynomial ax® + 4x% + 3x — 4 and x® — 4x + a leave the same
remainder when divided by x — 3, find the value of a .

Q28. Factories (a? — 2a)? — 23(a? — 2a) + 120

Q29. x + i = +/3 then, find the value of x3 + x%

Q3o0. If both (x — 2) and (x — %) are factors of px? + 5x + r, show thatp = r.
2 2 2

Q31. If a, b, c are all non-zero and a + b + ¢ = 0, Prove that % + % + Z—b =3

Q32. If (x - i) = 3, find the value of x* + x—14

Q33. If x? +xi2 = 7,x > 0, find the value of x3 +%andx —%.

Q34.  Solve (x - —) (x + ) (xz n xl_Z) (x4 + x_14)

Q35. Ifa? + b?+c?—ab — bc —ca = 0, prove thata = b = c.

Q36. Ifa+b+c=6,findthevalueof (2—a)*+(2-b)*+2—-¢c)*-32 -
a)(2—-b)(2—-0)

Q3y7. Prove (a+b+c)>—a3—b3—c3=3(a+b)(b+c)(c+a)

Q38. .:—/+§=—1,(x,y¢0)ﬁndx3—y3

Q39. Find x3 + y3 — 12xy + 64 whenx +y = —

Q4o0. Find x3 — 8y3 — 36xy — 216 when x = 2y + 6



Subiject: Science Set: A
Class: I1X Maximum Marks: 50

PHYSICS (16 MARKYS)

Questions 1 to 4 are multiple choice questions carrying 1 mark each

Q1. The numerical ratio of displacement to distance for a moving object is
(a) always less than 1 (b) always equal to 1
(c) always more than 1 (d) equal or less than 1

Q2. A student draws a distance-time graph for a moving scooter and finds that a section of the graph is a horizontal line parallel
to the time axis. Which of the following conclusion is correct about this section of the graph ?

H

B

-

o P Q

Qo

199]

A

© Time —»

(a) the scooter has uniform speed in this section

(b) the distance travelled by scooter is the maximum in this section

() the distance travelled by the scooter is the minimum in this section
(d) the distance travelled by the scooter is zero in this section

Q3. A bus increases its speed from 36 km/h to 72 km/h in 10 seconds. Its acceleration is :

(a) 5 m/s? (b) 2 m/s® (c) 3.6 m/s? (d) 1 m/s?
Q4. A particle is moving in a circular path of radius r. The displacement after half a circle would be :
(@0 (b) r (c) 2r (d) 2r

Question 5 and 6 are assertion- reason questions carrying 1 mark each

DIRECTIONS: In the following questions, a statement of Assertion (A) is followed by a statement of Reason
(R). Mark the correct choice as:

If both Assertion and Reason are true and reason is the correct explanation of the assertion.

If both Assertion and Reason are true and reason is not the correct explanation of the assertion.

If assertion is true but reason is false.

If assertion is false and reason is true.

If both assertion and reason are false.

moow»

Q5. Assertion (A) : Motion with uniform velocity is always along a straight line path.
Reason (R) : In uniform velocity, speed is the magnitude of the velocity and is equal to the instantaneous
velocity.

Q6. Assertion (A) : An object may acquire acceleration even if it is moving at a constant speed.
Reason (R) : With change in the direction of motion, an object can acquire acceleration.

Question 7 is a very short answer type questions carrying 2 marks

Q7. Write at least four differences between speed and velocity.

Question 8 is a short answer type guestions carrying 3 marks

Q8. Why the motion of a body moving in a circular path with a constant speed, is called an accelerated motion?
or
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A train starting from rest moves with a uniform acceleration of 0.2 m/s? for 5 minutes. Calculate the speed
acquired and the distance travelled in this time.

Question 9 is a Long answer type question carrying 5 marks

o 10 20
Time (s)

Q9. Study the speed-time graph of a car given alongside and answer
the following questions : a0l B
(i) What type of motion is represented by graph AB ? l a0 !
(ii) Which part of the graph represents uniform acceleration? :é": :
(iii) What is the retardation of car from B to C ? 327 |
(iv) What is the distance travelled by the car between time interval 0 to @ 10 :
30s? :
30 40 50

(v) What is the distance travelled by the car in uniform motion?

CHEMISTRY (16 MARKYS)

Questions 10 to 12 are multiple choice guestions carrying 1 mark each

Q10. Which of the following statements is incorrect about the kinetic energy of particles in different states of matter?
(a) Solids have the least kinetic energy.
(b) Liquids have more Kinetic energy than solids.
(c) Gases have the most kinetic energy.
(d) All three states of matter have the same kinetic energy.
Q11. Which of the following statement is correct?
(a) Substances that exist as liquids at room temperature typically have melting and boiling points lower than
that of room temperature.
(b) The process in which a substance transitions directly from a solid to a gas state without going through the
liquid state is known as sublimation.
(c) To convert a temperature from the Celsius scale to the Kelvin scale, add 273 to the given temperature.
(d) The density of ice is lower than that of water.
Q12. Under which of the following circumstances would the distance between molecules of hydrogen gas increase?
(1) Applying greater pressure to hydrogen within a sealed container.
(ii) Leakage of a portion of the hydrogen gas from the container.
(iii) Expanding the volume of the container holding hydrogen gas.
(iv) Introducing additional hydrogen gas into the container without altering its volume.
(@) (i) and (iii) ~ (b) (i) and (iv) (c) (ii) and (iii) (d) (ii) and (iv)
Question 13 is an Assertion (A) — Reason (R) type question carrying 1 mark

DIRECTIONS: In the following questions, a statement of Assertion (A) is followed by a statement of Reason (R).
Mark the correct choice as:

If both Assertion and Reason are true and reason is the correct explanation of the assertion.

If both Assertion and Reason are true and reason is not the correct explanation of the assertion.

If assertion is true but reason is false.

If assertion is false and reason is true.

If both assertion and reason are false.

moow»

Q13. Assertion (A) : There is a change in the temperature of the substance when there it undergoes a change in state
through it is still being heated.
Reason (R) : The heat supplied is either absorbed as a latent heat of fusion or a latent heat of vaporisation.

Question 14 is a short answer type guestion carrying 2 marks

Q14. Compare and contrast the properties of solids, liquids, and gases. How do their particles’ arrangements and
movements differ?
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Question 15 and 16 are short answer type guestions carrying 3 marks each

Q15.
Q16.

Explain how the concept of latent heat is used in refrigeration systems. Provide examples of its practical
applications.

Analyse the process of sublimation. What are the conditions required for a substance to sublime? Provide
examples of substances that sublime.

Question 17 is a Case based / Source based answer type question carrying 4 marks

Q17.

There are three main states of matter:

a. Solid: Has fixed shape and volume. Particles are closely packed and have fixed positions.

b. Liquid: Has fixed volume but not fixed shape. Particles are closely packed but can move past each other.

c. Gas: Neither fixed shape nor fixed volume. Particles are widely spaced and move randomly.

Latent Heat

Latent Heat of Fusion : Energy required to change the state from solid to liquid.

Latent Heat of Vaporization : Energy required to change the state from liquid to gas. Understanding the

properties and changes in state of matter is crucial in various fields, such as engineering, chemistry, and

environmental science.

Answer the following questions....

A. Design an experiment to demonstrate the effect of temperature and pressure on the state of matter. How would
you measure and record the changes?

B. Evaluate the importance of understanding the properties of matter in everyday life. How does this knowledge
impact our daily activities and technological advancements?

C. A substance is heated, and its temperature remains constant during the phase transition. What can be inferred
about the substance, and what type of phase transition is occurring?

D. A container filled with ice is placed in a warm room. Describe the changes that occur as the ice melts. What
factors affect the rate of melting?

BIOLOGY (18 MARKYS)

Questions 18 to 21 are multiple choice questions carrying 1 mark each

Q18.
Q19.
Q20.
Q21.

Which of the following is found only in plant cells?

a) Nucleus b) Mitochondria ¢) Chloroplast d) Ribosome
The fluid present inside the cell is:

a) Nucleoplasm b) Cytoplasm c) Protoplasm d) Chromoplasm
Which of the following cells do not have a true nucleus?

a) Animal cells Db) Plant cells c) Bacterial cells d) Fungal cells
Which organelle is responsible for packaging and transporting proteins?

a) Mitochondria b) Golgi apparatus ¢) Ribosomes d) Lysosomes

Questions 22 and 23 are Assertion (A) -Reason (R) questions carrying 1 mark each

DIRECTIONS: In the following questions, a statement of Assertion is followed by a statement of Reason. Mark

the correct choice as:

(a) If both Assertion and Reason are true and reason is the correct explanation of the assertion.

(b) If both Assertion and Reason are true and reason is not the correct explanation of the assertion.
(c) If assertion is true but reason is false.

(d) If assertion is false and reason is true.

Q22
Q23

. Assertion (A) : Prokaryotic cells have membrane-bound organelles.

Reason (R): The nucleus in prokaryotes is well organized.

. Assertion (A): The plasma membrane is selectively permeable.

Reason (R): It allows all substances to pass freely in and out of the cell.

Question 24 is a very short answer type question carrying 2 marks

Q24. What are the main differences between prokaryotic and eukaryotic cells?

Question 25 and 26 are short answer type questions carrying 3 marks each

Q25. Write three differences between plant and animal cells.
Q26. What is osmosis, and why is it important for plant cells?
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Question 27 is case study based type guestion carrying 4 marks

Q27. Diffusion is the process of movement of molecules under a concentration gradient. It is an important process
occurring in all living beings. Diffusion helps in the movement of substances in and out of the cells. The
molecules move from a region of higher concentration to a region of lower concentration until the concentration
becomes equal throughout.
1. Name the process which is useful for the movement of substances like CO, and O, across the plasma

membrane.

a. Osmosis b. Diffusion c. Endocytosis d. Plasmolysis
2. Osmosis is the diffusion of ...

a. Water b. Free energy c. Solute and solvent d. None of these

3. Diffusion finally stops when ...

a. concentration of particles of one region becomes higher than the other.

b. concentration of particles of one region becomes lower than the other.

c. concentration of particles of two regions becomes the same.

d. None of the above

4. Which of the following statement defines hypertonic solutions?

a. A solution that has a lesser concentration of solutes on the outside of a cell when compared with the inside of
a cell.

b. A solution that has a greater concentration of solutes on the outside of a cell when compared with the inside
of a cell.

c. A solution that has same concentration of solutes on the outside of a cell when compared with the inside of a
cell.

d. None of the above
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Holiday Homework Practice Sheet (Session:2025-2026)@:‘:
Subject: Science Set: B
Class: IX Maximum Marks: 50

PHYSICS (16 MARKYS)

Questions 1 to 4 are multiple choice guestions carrying 1 mark each:

Q1. What does the slope of a distance-time graph represent?
a) Speed b) Distance c) Time d) Acceleration

Q2. What does a horizontal line on a distance-time graph indicate?
a) Constant speed  b) Increasing speed  c¢) Stationary object  d) Decreasing speed

Q3 In which type of motion is the speed constant but direction changes?
a) Linear motion b) Uniform motion  c¢) Circular motion d) Non-uniform motion

Q4 . A ball is thrown upwards and then comes down. What is the direction of its acceleration?
a) Upwards b) Downwards ¢) Horizontal d) None of the above

Question 5 and 6 is an assertion- reason question carrying 1 mark:

DIRECTIONS: In the following questions, a statement of Assertion (A) is followed by a statement of Reason
(R). Mark the correct choice as:
If both Assertion and Reason are true and reason is the correct explanation of the assertion.
If both Assertion and Reason are true and reason is not the correct explanation of the assertion.
If assertion is true but reason is false.
If assertion is false and reason is true.
If both assertion and reason are false.
Q5 Assertion : Displacement of an object may be zero even if the distance covered by it is not zero.
Reason : Displacement is the shortest distance between the initial and final position.

moow>

Q6 Assertion : Motion with uniform velocity is always along a straight line path.
Reason : In uniform velocity, speed is the magnitude of the velocity and is equal to the instantaneous velocity.

Question 7 is a very short answer type qguestions, carrying 2 marks:

Q7. A car starts from rest and moves along the x-axis with a constant acceleration of 5 m/s® for 8 seconds. If it then
continues with constant velocity, what distance will the car cover in 12 seconds since it started from the rest?.
Question 8 is a short answer type questions, carrying 3 marks:

Q8. (a) Define average speed and average velocity. Give their mathematical expression.
(b) A car travels at a speed of 40km/hr for two hour and then at 60km/hr for three hours.What is the
average speed of the car during the entire journey?
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Question 9 is a Long answer type question, carrying 5 marks:
Q9 (a) Write the equation of motion and under what condition these equations are valid?
(b) Study the speed-time graph of a body given here and answer the following questions:

A
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(i) What type of motion is represented by OA?

(if) What type of motion is represented by AB?

(iii) What type of motion is represented by BC?

(iv) Find out the acceleration of the body.

(v) Calculate the retardation of the body.

(vi) Find out the distance travelled by the body from A to B.

CHEMISTRY (16 MARKYS)

Questions 10 to 12 are multiple choice questions carrying 1 mark each:

Q10. Which of the following sets contains only those substances that show sublimation

A. Naphthalene, camphor, iodine B. Salt, sugar, water

C. Copper, iron, aluminium D. Ice, ethanol, mercury

Q11. Why does water kept in an earthen pot become cool during summer?

A. Clay reacts with water B. Heat escapes through pores

C. Water gets cooled due to pressure D. Evaporation causes cooling

Q12. Which of the following phenomena confirms that particles of matter are continuously moving?

A. Burning of a candle B. Diffusion of potassium permanganate in water
C. Melting of ice D. Formation of clouds

Question 13 is an assertion- reason type questions carrying 1 mark:

DIRECTIONS: In the following questions, a statement of Assertion (A) is followed by a statement of Reason (R).
Mark the correct choice as:
A. If both Assertion and Reason are true and reason is the correct explanation of the assertion.
B. If both Assertion and Reason are true and reason is not the correct explanation of the assertion.
C. If assertion is true but reason is false.
D. If assertion is false and reason is true.
E. If both assertion and reason are false.

Q13. Assertion (R): Evaporation causes cooling.
Reason (R): During evaporation, particles absorb heat from surroundings to overcome attraction

Question 14 is a short answer type question carrying 2 marks:
Q 14. How can the rate of evaporation be increased? Mention any two factors.
Question 15 and 16 are short answer type questions carrying 3 marks each:

Q15. Describe an activity to show that particles of matter are continuously moving. What conclusion can we draw
from it?
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Q16. Explain why we see water droplets on the outer surface of a glass containing ice-cold water?

Question 17 is a Case based / Source based answer type question carrying 4 marks:8

Q17. In a lab experiment, a student heated a beaker containing ice and recorded the temperature every minute. For a
few minutes, the temperature remained constant even though heating continued.

Questions:

1. What was happening to the ice during the time the temperature remained constant?

2. What is the energy absorbed during this process called?

3. Why doesn’t the temperature rise during this time?

4. What would happen if heating continued after all the ice melted?

BIOLOGY (18 MARKS)

Questions 18 to 21 are multiple choice questions carrying 1 mark each:

Q18. coined the term “cell.”
a. Gorbachev b. Robert Brown c. Robert Hooke d. Anton Von Leeuwenhoek
Q19.What did Robert Hooke observe under the microscope?
a. Small rooms b. Large vacant space c. Small patches d. Dark spots
Q20.Plasma membrane is composed of

(@) cellulose and lipids (b) lipids and proteins
(c) peptidoglycan and lipids (d) cellulose and proteins

Q21.Match the following

1. Schwann a. Multicellular organism
2. Plant cell b. Cell theory

3. Osmosis c. Smallest cell

4. Mycoplasma d. Plasma membrane

Questions 22 and 23 are Assertion (A) -Reason (R) questions carrying 1 mark each:

DIRECTIONS: In the following questions, a statement of Assertion is followed by a statement of Reason. Mark
the correct choice as:

(a) If both Assertion and Reason are true and reason is the correct explanation of the assertion.

(b) If both Assertion and Reason are true and reason is not the correct explanation of the assertion.

(c) If assertion is true but reason is false.

(d) If assertion is false and reason is true.

Q22.Assertion : Plasma membrane is selectively permeable.
Reason : Plasma membrane allows some molecules to pass through it more easily than others.
Q23. Assertion : A cell swells up when present in a hypotonic solution.

Reason : More water molecules enter the cell than they leave.

Question 24 is a very short answer type question carrying 2 marks:
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Q24. Explain any four structures of nucleus.

Question 25 and 26 are short answer type questions carrying 3 marks each:

Q25. Osmosis different from diffusion. Justify.

Q26. Write two differences between hypotonic and hypertonic solution.What happern to cell in
both type of solution?

Question 27 is case study based type question carrying 4 marks:
Q27. Ram placed a raisin in a solution, and after one hour observed swelling in the raisin.

Watch glass with Raisins kept Swollen raising
ry raising In water

a) What is the probable reason for it?

b) Define Endo osmosis.
¢) What is plasmolysis?

d) What will happen if swollen raisin are kept in sugar solution?

.Previous Year Questions

Physics

Year 2023-24
5 Marks Questions

QO. (i) Draw (a) Displacement — time graph, (b) velocity- time graph, (c) acceleration- time graph for uniformly
accelerated motion.

(ii) Velocity-time graph of a particle of mass 2kg moving on a table as shown in figure.

Find acceleration of object, displacement and distance of object before coming to rest? Write type of motion. (5
marks)

Year 2024-25

5 Marks Questions

What is retardation? A body moving on a circular path with a constant speed is said to be an accelerated motion.
Why?

OR

(a) Define motion. What do you understand by the terms ‘uniform motion’ and ‘non-uniform motion’? Explain
with examples.

(b) Convert a speed of 54 km/h into m/s.

Chemistry
Year 2023-24

Q1. Identify the incorrect statement about evaporation.
(A) It causes cooling.
(B) It increase withincrease in humidity.
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(C)It decreases with increase in temperature.

(D) It increases with increase in wind speed.

(a) (B) and (C) are incorrect (b) All of these.

(c) (A) And (B) are correct (d) (A), (B) and (C) are correct.
Q2. Due to a property ‘X’ of gases, its large volumes can easily be stored in a small cylinder and transported easily,
‘X is...

(a) Less interparticle spaces (b) High compressibility
(c) Strong interparticle forces (d) Less Kinetic energy
Biology

Year 2023-24

Five Previous year Question:

1. What is membrane biogenesis?

2. What do you mean by endocytosis?
3. State the main function of nucleus.

4. If you are provided with some vegetables to cook, you generally add salt into the vegetables. After adding salt,
vegetables relaease watee. Why?

5. Ritika observed onion peel cells in lab and could view the cell wall, cytoplasm and nucleus clearly. Suddenly her
friend spilled a few drops of salty water on the slide having onion peel cells. She observes some changes in the cells
after sometimes.

i) What changes would have been observed by Ritika?

ii) Name the process that caused the changes in the cell.

Page 5 of 5



DELHI PUBLIC SCHOOL BULANDSHAHR

SOCIAL SCIENCE
(HOLIDAY HOMEWORK)
Class: IX

Max. Marks: 50

SECTION - A (History/ Political Science)
Multiple Choice Questions (MCQs) — Ix4=4
1. Arrange the following events in chronological order:
i. Louis XVI called together an assembly of Estate General to pass the proposal for new taxes.
ii. The Convention legislated to free all the slaves in French overseas possessions.
iii. Louis XVI of Bourbon dynasty ascended the throne of France.
iv. Convention abolished monarchy and declared France a republic.

a. iii, i, iv, ii b. iv, ii, i, iii c. ii, v, iii, i d. i, iii, iv, i

2. Who among the following were against the private property and saw it as the root of all social ills
of the time?

a. Capitalists b. Liberals c. Conservatives d. Socialists
3. Match the following:

Column A Column B
i. Women in France got the voting right a. 1794
ii. Slavery abolished from French overseas colonies b. 1793
iii. Convention legislated to free slaves from French c. 1946
Colonies
iv. Louis XV publicly executed at Place De La d. 1848
Concorde
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a.i—Db,ii-aiii-c iv-d b.i—c,ii-diii-aiv-b
c.i—d,ii-c,iii-b,iv—a d.i—a, ii-b,iii-d, iv-c

4. Assertion (A) — In Mexico, elections are held after every five years since independence in 1930.
Reason (R) — Institutional Revolutionary Party won every election till 2000 in Mexico.

a. Both A and R are true and R is the correct explanation of A.

b. Both A and R are true and R is not the correct explanation of A.

c. Alistrue but R is false.

d. Ais false but R is true.

5. Read the source given below and answer the following questions- 4
In 1804, Napoleon Bonaparte crowned himself Emperor of France. He set out to conquer
neighbouring European countries, dispossessing dynasties and creating kingdoms where he placed
members of his family. Napoleon saw his role as a moderniser of Europe. He introduced many laws
such as the protection of private property and a uniform system of weights and measures provided by
the decimal system. Initially, many saw Napoleon as a liberator who would bring freedom for the
people. But soon the Napoleonic armies came to be viewed everywhere as an invading force. He was
finally defeated at Waterloo in 1815. Many of his measures that carried the revolutionary ideas of
liberty and modern laws to other parts of Europe had an impact on people long after Napoleon had
left. The ideas of liberty and democratic rights were the most important legacy of the French
Revolution. These spread from France to the rest of Europe during the nineteenth century, where
feudal systems were abolished. Colonised peoples reworked the idea of freedom from bondage into
their movements to create a sovereign nation state. Tipu Sultan and Ram Mohan Roy are two
examples of individuals who responded to the ideas coming from revolutionary France.

5.1 State the two legacies of French Revolution. 1
5.2 When and where was Napoleon defeated? 1
5.3 Explain any two administrative reforms of Napoleon. 2
6. Read the source given below and answer the following questions- 4

Despite all these difficulties, there was one big advantage for the makers of the Indian Constitution.
Unlike South Africa, they did not have to create a consensus about what a democratic India should
look like. Much of this consensus had evolved during the freedom struggle. Our national movement
was not merely a struggle against a foreign rule. It was also a struggle to rejuvenate our country and to
transform our society and politics. There were sharp differences of opinion within the freedom
struggle about the path India should take after Independence. Such differences exist even today. Yet
some basic ideas had come to be accepted by almost everyone. As far back as in 1928, Motilal Nehru
and eight other Congress leaders drafted a constitution for India. In 1931, the resolution at the Karachi
session of the Indian National Congress dwelt on how independent India’s constitution should look
like. Both these documents were committed to the inclusion of universal adult franchise, right to
freedom and equality and to protecting the rights of minorities in the constitution of independent
India. Thus some basic values were accepted by all leaders much before the Constituent Assembly
met to deliberate on the Constitution. The familiarity with political institutions of colonial rule also
helped develop an agreement over the institutional design. The British rule had given voting rights
only to a few. On that basis the British had introduced very weak legislatures. Elections were held in
1937 to Provincial Legislatures and Ministries all over British India. These were not fully democratic
governments. But the experience gained by Indians in the working of the legislative institutions
proved to be very useful for the country in setting up its own institutions and working in them. That is
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why the Indian constitution adopted many institutional details and procedures from colonial laws like
the Government of India Act, 1935.
6.1 Despite all these difficulties, there was one big advantage for the makers of the Indian

Constitution. State. 1
6.2 What helped in the designing of various institutions in India? 1
6.3 State two common features of Moti Lal Nehru Report and Karachi congress session. 2
Very Short Answer Type Questions- 2x1=2
7. List any two compromise made by the Whites in South Africa.

Short Answer Type Questions- 3%2=6

8. How were the views of Radicals different from the Liberals?

9. Describe triangular slave trade.

Long Answer Type Questions - 5x1=5
10. Highlight any five measures introduced by Robespierre’s government to bring equality in France.

SECTION - B (ECONOMICS)

Multiple Choice Questions 1x4=4

1. Which of the following inputs cannot be increased to raise farm output due to natural limitations?
a. Seeds b. Fertilizers c. Labour d. Land

2. Assertion (A): All farmers in Palampur benefit equally from the use of modern farming techniques.
Reason (R): Modern methods are easily accessible and affordable to all farmers.
Choose the correct option:
a. Both A and R are true and R is the correct explanation of A
b. Both A and R are true but R is not the correct explanation of A
c. Alis true but R is false
d. A is false but R is true

3. Statement I: Palampur is an imaginary village developed for the purpose of understanding rural
economy.
Statement I1: All villages in India have the same level of infrastructure and productivity as
Palampur.
Choose the correct option:
a. Both statements are true
b. Both statements are false
c. Statement | is true, Statement 11 is false
d. Statement | is false, Statement Il is true
4. What could be a reason for unequal income distribution in a village like Palampur, even if all
farmers have access to modern techniques?
a. Different levels of access to water supply
b. Unequal land ownership and capital
c. Use of organic farming by all
d. Uniform crop prices

5. Why do some farmers in Palampur prefer to borrow money from moneylenders despite the high

interest rates? 2
6. How can technology both help and hurt small farmers? 3
7. Highlight the challenges and opportunities of a landless farmers in rural India. 3
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SECTION - C (GEOGRAPHY)
Multiple choice questions: 3x1=3

1. Assertion: Terai is a wet, swampy, marshy region and full of forest and wildlife.
Reason: Terai lies south of bhabar belt and in terai region all the streams and rivers are disappear.
Options:
a. Both A and R are true and R is the correct explanation of A.
b. Both A and R are true and R is not the correct explanation of A.
c. Alistrue but R is false.
d. Ais false but R is true.

2. ldentify the correct statement among the following.

a. The tropic of cancer passes through the middle of the country from the thar desert in the west to
Mizoram in the east

b. The tropic of cancer passes through the middle of the country from the Rann of Kutch in the west to
Tripura in the east.

c. The tropic of cancer passes through the middle of the country from the Sahayadri in the west to
Purvachal in the east.

d. The tropic of cancer passes through the middle of the country from the Rann of Kutch in the west to
Mizoram in the east.

3. Match the following.

Column A Column B
A. The Himachal i. Composed of unconsolidated sediments brought down by
rivers
B. The Himadri ii. It comprises the Patkai hills, the Naga hills and the Mizo hills.
C. The Shiwaliks iii. Consists the famous valley of Kashmir, the Kangra and kullu
valley
D. The Purvachal iv. It is the most continuous range consisting of the loftiest
peaks.
Options —
a.A—iv,B—iii,C—i,D—ii b.A-iii,B—iv,C—i,D-ii
c.A—iv,B—i, C—ii, D—iii dA-iv,B-ii,C—i,D—iii
4. Why have we opted a particular longitude as our standard Meridian? 2
5. Explain the significance of India’s eminent position in the Indian Ocean. (Internal Exam 2024) 3
6.” The northern plains have diverse relief features”. Explain. 3
7. Map Work — 1+1=2

a. Mark and label the strait separating Sri Lanka from India.
b. Mark and label the second highest peak of India.

Page 4 of 6



INDIA

PREVIOUS YEARS QUESTION PAPERS

Multiple Choice Question (MCQs) —

1. Two statements are given below. They are Assertion(A) and Reason (R). Read both statements
and choose the correct option:

Assertion (A): Robespierre’s government issued laws placing a maximum ceiling on wages and
prices. Meat and bread were rationed.
Reason (R): Peasants were forced to transport their grain to the cities and sell it at prices fixed by the
Government. (2025)

Options:

a) Both (A) and (R) are correct and (R) is the correct explanation of A

b) Both (A) and (R) are correct and (R) is not the correct explanation of A

c) (A) is correct, (R) is incorrect

d) (A) is incorrect, (R) is correct.
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2. ‘Legal Framework Order’ was issued in- (2025)
(A) 2020
(B) 2002
(C) 2001
(D) 1991

Very Short Answer Type Questions-

3. Distinguish between Seasonal and Chronic Hunger?
(2024)

Short Answer Type Questions-

4. Describe the political system under the constitution of 1791. (2025)
Long Answer Type Questions —

5. Differentiate between the Western Ghats and Eastern Ghats. (2024)
Case — Based Questions
6. Read the source given below and answer the following questions- (2024)

The drafting of the document called the constitution was done by an assembly of elected
representatives called the Constituent Assembly. Elections to the Constituent Assembly were held in
July 1946. Its first meeting was held in December 1946. Soon after, the country was divided into India
and Pakistan. The Constituent Assembly was also divided into the Constituent Assembly of India and
that of Pakistan. The Constituent Assembly that wrote the Indian constitution had 299 members. The
Assembly adopted the Constitution on 26 November 1949 but it came into effect on 26 January 1950.
To mark this day, we celebrate January 26 as Republic Day every year. The Constitution does not
reflect the views of its members alone. It expresses a broad consensus of its time. The experience of
our Constitution is different. Over the last half a century, several groups have questioned some
provisions of the Constitution. But no large social group or political party has ever questioned the
legitimacy of the Constitution itself.

6.1 What do you mean by Constituent Assembly? When did it meet for the first time?
6.2 How many members were there in the Indian Constituent Assembly?

6.3 When was it adopted by Constituent Assembly? When did it come into effect?

Page 6 of 6



feeett ufTe e gaigRer
ST AqHl
3T ST YU

1. Fafefad =i ) vesr A for e uyi & SR 98 fawe ge fafau |

MYFH T H TN &1 Hed 9¢ T gl TUP T BT HRU Il 3R A9 HI oaudl gl afe AT
IRING U F WY 7, a1 98 AR & gHR Siad &1 & U IHhdl § 3R 34 It Foladl ud
TGS B gul R Tl ¢ | TRR g1 98 HIeAH g, S gR1 g4 1= wft sl o) 4ud oR Tahd
21 ZURIT 3T TRR P WY G SHRT UYH Had g, o TNT gRT TR T[T ol Thall &1 21 4,
2015 &I UYH IR TqUi fay F Tay TnT fGaw T a1 S99 91y g1 I8 giwon Hff &1 75 {6 Td® oy
21 9 1 fay AT fdad o U T 911 S|

T U T € YR Wpia 1 3T 38T 31 SHR Yool - 9gd JHY U &1 3HDT IR IR
foraT o1 SfR 3% Hew@ &I Uga fordm Ul SHferd I UG hd wiedl a1 Hft Sifad 81 IR &= & 9 Had
T B 4B R 811 8, dedh T &1 YHT off gR Bl 81 TNT 1 arel Afad 39 SIT-UT § T =Y
ITE TG Tpic BT 3IHT T g1 A IR § IRR & TP 31 T I9d HT YR YA ¥U I il &
TUT IRR I T & | 37 TN fGad P I5-T YU fay & TNT ¥ Ui 814 aTal arl & ufa @l bl
SRE® BT 8 | A &1 IRIRG 3R AFRIG U ¥ W I8 H TR guia: T ]|

@) MY TTH AT FTHgT T dgT & ?
(i) URIFaH Ugfadl IR @l & fOy & SR (i) AT H 39& Ufd T8 §¢1 & HRU]
(iii) ST 3R 7 P TUAT P HRU] (iv) SRIFd H ¥ PIs 8!
(@) THRT UYYH Hricd FT 8 ?
(i) IRR DI WY TG (ii) Tt AAIBIATISM B Ui H=AT
(iii) TNT Y FRrefm &1 (iv) GGI BT IUHIT HAT
an ‘fay a1 feaw &9 AT SaT 8 2
(i) 21 TS (i) 21 A8 (iii) 21 3@ (iv) 21 SH

() FYA (A) : F TN @I ARATI
PRI (R) : T-H9 B! YHT R Bl o, SFT-UT H TT IS G Wil BT 3IHT gial § 3R
3 BT YIR A ¥ F 814 J IRR I g g

(i) BYT (A) Ta1 8, A BRI (R) TAd B
(ii) Y (A) Ted g, Afch HRUT (R) TSI g
(i) BUT (A) 3R HRU (R) G T & |
(iv) BYUT (A) TgT § 3R BRU (R) HYUT (A) DI Jg! RS HRAT 5 |

@) M RaaFTRTITTR 2
1. IRT BT TAR-UIR HRAT|
2. Ul fay &1 T o Al o Ul ATl ! SN edh =T |
3. qut fay & a0 Bt fRrem 1
4. I0Gad | 4 B3 gl |

PcC:

() 1981 Bl ()2 MR 3TEEl (i) 1,2 3R 3T El  (iv) Had 4 TEI g




2. ST U9 U & YR WR 3T 71T usi & IR 3R fawew g fofaw |
(@) ‘SR et § HI-9T ST g ?
(i) 39 (i) 3q (i) 3= (iv) 3
(@) ‘TIE Vg W YT SUT T ARG ¢ |
()9 + g8 (i) 9fd + 31& (iii) U + 31& (v) ufd + &

() W’ Vg § frd Uead ST UGRT g @ 2

()9 (ii) 3 (iii) T (iv) 3T
@) Frafafea I 49 59 I | O U &1 Wi 181 gan gl
(i) S (if) ST (ili) TSHTH (iv) WY
3. TR/ & MYR R AT 7¢ ugi & I I fawew gaas faf@u)
(@) SAFATRIS BT IR R g
() TRBT, g (i) G (i) =TT (iv) et
@) ot vl § | 5 weg # ' RaR” &1 3fa v gang 2
(i) =ad (i) T (iii) Febed (iv) &g
@T) "TEMT Xeg & fhd quf IR SR ST U4 Sfad gRm|
okl (i) @ (i) T (iv) T
@ Frafafad v<i # 9 39 g &1 ge, rad 3R ®IF R 3gA1RIS &1 wahT g3n 81
() 4& (i) 33T (il HTME (iv) Rrats
&) foF wafal & @R # gar AiieT 9 a1 Fed a@t 3---------- Fgandt g
(i) SFFRID (i) 3FIER (DRENFRIINED (iv) ®R
@) Frafafed sl d 3 39 s 3t gihe, oy SR M R SRe &1 wahT T8l gen 21
(i) TR (i) §& (il MRl (iv) TS

4. 913 3R U R nutla fAufefad uyl & IR ferf@u

(@) eg [P HBd 8?7 ITEIUT <H THSSU|




(@) Ug [hY H5d 87 ISIEX ¢ THgRu|

(7) Xeq US Hd & SI1dT § IS8 0 Afed HIRT|
(®) UG & fba 9 gid 87 T fafgu
() T F YR IR Teg & HH-HH A Ve g 82 A1 fafau|
5. Frufafed T ot yeer T fow v it & SR Sfua faweu gaes fafau |

U UG, ST 31 gd &7 g IR 31 3, 26 A4 &1 URT dic 3T 3114 AR Ugal Sal arel
WY RHaTd @ RUfT T 89 sfavTd HRETl I5iA el fb 396 gd 7 HU-TH (6000 ), ST fgHurd &
3l& SR 8, T81 db HI AT WIH &R &1 §1 I a8t Iarn fs gat s, IRl afeabr qu
sifeal O a1 ffga o), 9 ) Sie=rsal &1 S o forn T g1 S8 39 WR W e feam f
TRER 9% $1 ¢! § 3R d% &1 R onft SRt 1 fewurd & sifafia ofR oifAfyd seema & sRur
3t I & fpu U gt i = B opd § iR 1 T Wie &1 HTH GIaRT BT US Ihal g

1.9f8®T B GY AU & Ir 4 THeRI foaa & 2

@) RragaR A (@) ST o () IS (|) eTgR g =
2 QST TUT ISP FIFYGT B} TR UR Uga Dt Ugelt a5t a1em HiF-3t ot 2
(@)Y Pt 3R ST @) gy ferurd o fufd
MUdd WR 7 T Ul (9) B T TR I
3.%Y9-u® fgrurd ¥ frat Sa w ur?
(@)3000 Hto (%) 5000 Hto (T1) 6000 Hto () 7000 Hio

4. TYA (A) : HU-TS TP I ATE B & [qug § Faman 1|
PROT (R) : T FI1471 71T, IRGar are &t 718 3R srfvsal I I fufea s faar mani

(@) U (A) FEI §, difcbT BRUT (R) He T 1
(@) HYF (A) Tel 781 &, fohd BRI (R) FU (A) DI Tg! SARAT BT 8 |
(M) HU (A) 3R RO (R) G T & |
(6) B (A) 3R BRU (R) &I T81 8

5. UWEiG & TR 3 a@ T ¢ v =adf #4181 9&d &2
@) femura & Sifafia SiR AT Sgae & HRU
(@) TIRRR 9 T4 & BRI
() DHISATSUT BT SSI A A b BRI
(@) &Y Y g BRI 7 fem & R

3




7. Fafafaa veiw &1 yees - T T uyi & IR Sfd faweu gaws fafaul
Ut o1t g7 fog e 1|
TR FaTg TS TR1 A1 7 X |
SITeh! Bifd AT B3 A1 T R Tl e8|
g d X A1 g HIg o T X
G HErS qara] JUHT 9 X |
g Adary Yg ¥ Hag e d IN A 1|
(i) Bfa 7 T frany f5a Fe1 82
(@) Ga-AGIEAIS H (@) ATAUY B () ISN-TERISISHT BT () 30 TS Dl
(ii) T UG § Bfd YR 7 U+ Wl @I fq A | Jaifea forar 82
1. BReI3 2. Hg 3T 3. @ 4.3
Pc:
@) 13R2TERI @23AR3TEEI M3AR2TET  (U) Paa4 IS gl
(iii) <TG &9 B W MG PR HIA = T 3BT AT DI 82
(@) ST TUT 3R HeHTd BT I B B (T) WY DI JAf B Bt
@ TSI & () T B YOIl 3T B B
(iv) YT (A) : PO TN VSR DI WU A TA P HE W3 |
BRI (R) : FND SR Bl 38 HIUNR J IR T I & |
(@) YT (A) 3R HRU (R) S &1 B
(@) HYT (A) et g, Afp BRI (R) T B |
@) HY (A) 3R RO (R) S T B
(@) HYT (A) TTAd 8, AfhT PRUT (R) Tal g
(v) “TRT TMfdg H1g d A S Ufea A T A= 32
(@) SR 3D AN A &34 B
@) SR B et &1 off wa TET R
M SR 3P Al ¥ S T
(@) &R S oiifd 9Tl |t & ©vd el B

8. UTeaqa® R’ W sneria fFufafad uyi & S faf@u)

(@) ARGDT DI THAN R Fd ook - 34 b Usal H TR €7 TR : TR RRR &7 U8 &
HTYR

R ferfeu|

(@) TR S9 aTell gfedr 3R Jyid Afger a1 g faafi 81 <9 & g &t srgyfa 9ue g dfa
I §W & HYBR T 3R § HY ? WP Piforg|

() IF TGP FfedT & U d3HR I3 i 1 ¢ b1 o) SD! 1 g g% AR Hi? GW & SHABR’
U713 & SMYR IR feiRau|




(®) 31 H1Y -l BT Icokd BIP Y&y I Y HAT Aled § adl I6I depla GHIS Bi by
[CLEG]]

DI IOTR fFa1 8 2 'Ug' & SMYR IR WY BT |

(&) WA B §¢1 AT IS | T SfefIyrl o1 RISR S+ | 1 319 39 910 Y 9gHd § ? ‘G Bl
3ffYPR U1 o MYR IR feiau|

9. ¥ UTedqa® Hag- W nurid fFafefaa usl & s faf@u

@) e afaewT &1 ford srawin # fira 2 31 IUST SUIR &Y fohar? 399 3! foy favivar &1
Tdl gadl 82 ‘I U6 & 3R R o)

@) e For 7 U FIeest B S BT M o] 6,8 oiid-H1 & Ul TSI a1 Pl
ST &1 TN § - Pifod |

10. () Fed RTe o fawg ¥ &l IRy AFRS| o A&y gU aIdiany &f Yale ¥u ¥ fafau|
@) Tged H T &1 &) SITRe e Higanslt & el gu ardiely &l Jarg &0 H fafau|

11. (@) 30 i3 & SO JaY g&E I & 3Hd & 990 § THSHRT ¢d §U T U forfau|
(@) TT I / T 4T g BT TR § X84 | &< g Aem & o9 8 & g9k 30l

o & 1T SuA fUar Sff &1 U U ferfeu|

12. (&) ‘GHTH AIG & o0 U 3HN faFo daR S|

(@) ‘3MfIBT B & o0 T 3MHYH AU TR Bl




S{Y- W (2025-2026)

ATHTATGRIT :- (1) HAUT UYTATH IR0 AG-IATH |
(2) TR VART-UUR TquHT: I |
(3) HAYUTH UHTHI ITRIT H&pa- d@-1art=

ey 1-eNferRad =i ufd@m yeausny IR Jxpa+ ferad- (10)
TehaT SRR Gatir S eed, ure, T, TRIeT, Sl sardif T sifae.- ad ad uffe
Ry FH: | Tdg I T4 Wi, W bt i 7 difd |1 srergyfd aouid s 7 sism: |-
Td forafiiar Haifor SrgTH SR S | aTe! RRT YT ifasare | g%l Hyeh sivaae | &Y
3FHUT: 31U 7 U= | Td ¢ o ociia S | X : Faiior srgT+ Rifyanty srvae| erfwifa:
&fion SrHaq | HYHN IH: Mferar foaRy sfpd= -3l | 3T THIG: | Yaawd 3 Ura-  3axid
TR | Tdg U9 3811 Wfdd Galfd | 3 HUa1 T a3 Siiar: | 37d: SRAT: Fd: 3 g TganT:
HRUMT: | T Hel: Ta BT |
| THUH ITRd-
(i) PRITTIEDT BT Hafd ?
(i) PIE 3 U+ I&xUd DHrIfA?
Il quiaTeRi S<Rd -
(i) BT ST T wd Tadara: 2
(il) P DY ST feRTgerd= Haf= ?
1l 3 TV Pd IuYa e ferad-
Iv =Ry SRd -
(i) ‘SR 3fd fharaew sque fey 2
() 318H (@) 999 (M) ITS: (&) arefT:
(i) YT it faRivury faRrsg: o 2
() UTe () Torfere () 3= () |
(iii) = 3fd Uew & fadmuey s ugay ?
@) P (@) B WEFE (4 fara:
TH:-2 Hadl IRY: | YTt SEAEN USTd | YTaT: YTaT G4: TaqH &1 I¥pd ufedq =
i | & WRARIgH srefafed vt gesumeasraaa R SWyRaemi g: fer@a | (5)
g TSMEAAN:,
BEIFRICEINKE

Page 10of4



fafd: 25/06/2025

[ e —

(] ———

YA ATHABETIT TAUIARIATE T T 30T Sk S (iv) --------------- AT ATl 38 3fcitd U=
3R | I qYTTI | 72T 3EHTY Fd I HaT TaHeweal Wpaiayd Wied 7 3wofd | g 7!
) [ —————— T a1 3rTds Siaaa Srquf Yafd | ST SR aued g TH0! (a4 (vi) ------
--------- 3T | Th Y YA TRAT YA arsId: HIdqH Sfd | A9 J Iae: T 3 (vii)------
--------- ST | 3R I HAT TTHGET: AT (viii) ---------------3 3 IRA=fT |
TIGIOTERURN: B JOIMHT: (i) --------------- |

Hqd: U

(X) --=---=====-—--

HSSUT- YXHAHTITT: IRUMYGH, MRY:, HITTeTd:, SHITerd YHTRIS:, FaeH, P, 3, Had: |

UY: 3- Wex F T5gT USouTi UeRIsg i AerIadl Uardi- |xpd- forad- (5)

HSS[WT ST, SifeiepT:, fRiférepT, Jufdst:, teh:, I, uaf~y, &, ursafd, usfd, 9d, wmugs,
qhIi, 99 |

s 4- ANfAfGaarRy Yafgaudy 9 af<dd a1 oa- (5)
(i) TP +Td 34 g1 gfedl|
(if) TFEIER: ORI AT S1fE|

(i) :+f=Ie 31T i gewr: 7 ok |

(iv) 9!§5+W:tl?>'ﬁll
(v) TR: Ta7 garsfi pefal

Page 2 of 4




45 Id-Iuue-fauwRd=i yarT: Reawmy - (5)

O S AR |
(@) T (9) T8 M IH: (€) 3HY:
(i) --------- qRd: CaTaaHId |
(®) ITH (@) WEEIG () TR
() TH: |
(@) &1 @3~ ()edd @ 2a
QD IC [N e —— f3ufa |
(@) @Rie  mRigw @) Rigd
(v) T PR HE: |
(P) TR (@) RO M@®OF  (4) RO|
T3:-6 Uad fasdet: Iferd Swi e Rraawim ity - (5)
(1) -==------ 3gH JUsRR: 3R |
(@)X (9) SH QRE (&) I
(il) ====mmms e =g |
@) W () Yl @) Yo (|) Y
(i) ---------- AT Hafd |
@) (G) A WEICIE (9) ST
(V) ===------ faTorT wafd|
@) fagw: (@) fagre WREET: @) g
(V) ===mmmmev qTce: dafid |
@) TS (@ T WL (6 T
UY-:7 Yo faped: 3fud urgeu fRrear Reawirm graa- 5)
(i) TdTY: GRIYT: ----- I
(i) HAT ST B&AT ------ ?
@) Tofl (@) Usf< () US: @) T
(i) %: SIS JUI ----- |
@) Hawy @ ufewf o uRee: @) viawd
(iv) TaoT: T ------ |
(v) o RIIPIST ET - |
(@) AlGd™ (M) Hlg<H () FeuT @) Hiew
UY-:8 reNfafad weriwi ufdw@r Ugauym=ny SR Hegpd- forad- )

qd: I AP e STTHITH SuFU

: TP | o AT GUSKT: Hadr{| SR STRonsu

TG TSIl T8 H SUTa: | STeTU 5T A dl: il gQuTG: 0¥ TRUAN: a3 | faw: aurfae d esgr

SIAPIS Wifad: S TUT ST AHd AMTGaar | <R J1aq Iugd U U=Afd d1dg aae:

I Uy fed: fasfikd | 90: T SUSRS A% d d FRIET e Gitid T-aaH: eI IR f[auey

3T |

Page 3 of 4



| UG 3T -
(i) Tp e B: TF: ?
(i) TP Q: & ATGA ?
Il quiaTeRIA Svd-
(i) fau: Yadfafercag@aure epd esgl fob ] 31 2
(ii) : faST ST 2
11 YT S<Rd-
(i) e s o/ foh ue ugaaH 2
(i) P T IROAN: IS 3 fopaTue foh e ?

U%:-9 W%,ﬂu?:rﬁ 3T gHf-rafol e - 3)

(i) TR0 37 SREATRY: WTST: TG
(iii) T ST ATCHIq IT|

H:-10 ANFARIT- Tz 3 wespuTd: Sfad ue forear Raq - )
YT~ THRGRG: Baleh:
Tangfuyffaatear = |
WYTG T4y WRIYSTROH ||

Page 4 of 4



DELHI PUBLIC SCHOOLBULANDSHAHR 77

¥
5
Holiday Homework Practice Sheet @ ‘*:W
(session-2025-26)

Subject- German Class IX

I. Fasst den folgenden Text ins Englisch zusammen! 10
In aller Munde

Kaum jemand mag sie nicht. Man isst sie, weil man Lust darauf hat, eder weil man sich gerade geérgert hat und
etwas Gutes fir sich tun moéchte. Kinder lieben sie. Wenn sie auf dem Tisch steht, steht sie meistens nicht lange da.

Jeder nimmt sich ein Stiick, und bald ist sie weg — die Schokolade.

Sie ist in aller Munde. Wir lieben sie und wir hassen sie. Denn wer kennt ihn nicht, den Satz ,Iss nicht zu viel davon,
Schokolade macht dick”. Tatsachlich hat eine Tafel Schokolade, das sind 100 Gramm, circa 590 Kalorien, so viel wie
eine ganze Mahlzeit. Doch was sie nicht hat, sind Vitamine. Ist Schokolade also nur ungesund?

Vor allem Vollmilchschokolade enthélt viel Zucker und Fett. In einer Tafel konnen bis zu 40 Gramm Fett sein. Ganz
schon viel, denn 80 Gramm braucht ein Mensch pro Tag. Anders ist es mit dunkler Schokolade, auch
,Bitterschokolade” genannt. Wer davon isst, bleibt auch schlank — natirlich dirfen Sie sie nicht kiloweise essen.
Bitterschokolade enthdlt wenig Zucker und viel Kakao, und der ist gesund fir Herz und Kreislauf, sagen
Wissenschaftler.

Friher war Schokolade eine Medizin. Bis zum 19. Jahrhundert haben sie nur Apotheken verkauft. Aber nur reiche
Leute haben Schokolade gegessen, weil sie sehr teuer war. Erst 1819 hat Francois-Louis Cailler in der Schweiz die
erste Schokoladenfabrik gegriindet. Noch heute essen wir die braune SiRigkeit von den Ersten der
Schokoladenherstellung, von Suchard (gegriindet 1826), von Lindt (1845) und Tobler (1899). Alle drei Firmen haben
eines gemeinsam: Sie liegen in der Schweiz. Auch heute ist die Schweizer Schokolade noch beriihmt, weil sie
besonders gut und lecker sein soll.

Na, Appetit bekommen? — Naschen Sie mal wieder, denn der groRe Zuckeranteil in der Schokolade wirkt auf unser
Gehirn und macht gute Laune.

Jetzt muss ich aber aufhdren und in den Supermarkt gehen — eine neue Tafel kaufen.
Il. Lest den Text und beantworte die Fragen!

Auch Lehrer sollen Zeugnisse bekommen. Sind sie nett? Haben sie Geduld? Erklaren sie gut? Sind sie gerecht? Wer
ein paar Jahre lang

schlechte Note hat, darf nicht mehr als Lehrer arbeiten. -Peer Seume

Ich finde die Idee nicht gut. Dann mdchte bald keiner mehr als Lehrer arbeiten. Wir lernen nichts und bleiben dumm.
-Nadja Bauer

Wir Schiiler bekommen Zeugnisse. Schlechte Schiiler bleiben sogar manchmal sitzen. Aber die Lehrer machen, was
sie wollen, und behalten ihren Beruf. Ein Zeugnis fir Lehrer ist toll -Lisa Blim

Ich finde die Idee bléd. Meine Eltern sind Lehrer. Wenn sie ihren Job verlieren, missen wir unser Haus verkaufen
und ich verliere alles, was ich habe. -Maria Lemke

Keine schlechte Idee! Mein Mathelehrer wird schnell bdse und wirft Kreide. Er brillt immer, wenn wir laut sind. Der
hatte eine Finf im Zeugnis. -Maja Bayerle

1. Was passt zusammen?

i. Wenn die Lehrer ein paar Jahre lang schlechte Noten haben, a. keine schlechte Idee ist.
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ii. Die Eltern von Maria b. dirfen sie nicht mehr als Lehrer arbeiten.

iii. Maja meint,dass Zeugnisse fir Lehrer c. arbeiten als Lehrer.
iv. Der Mathelehrer von Maja d. toll ist.

v. Lisa meint,dass ein Zeugnis fiir Lehrer e. hatte eine Finf.

2. Bildet Satze! a) gerecht b) Idee c) verkaufen

3. Fragen-

a) Wie reagiert der Mathelehrer von Maja, wenn die Schiiler laut in der Klasse sind?
b) Was wird passieren, wenn ein Lehrer ein paar Jahre lang schlechte Note hat?

lll. Lest den Text und beantworte die Fragen! 10

,,Die Deutschen essen alles auf”

Was sagen junge Leute aus den USA, Griechenland und Japan Uber die deutschen Ess- und Trinkgewohnheiten?
»Alles ist sehr geordnet. Die Esszeiten und die Speisen variieren sehr wenig.” meint eine Griechin. ,Die
Hauptmabhlzeit in Deutschland ist das warme Mittagessen mit Fleisch, Salat und Beilagen. Das sind meist Kartoffeln,
Nudeln und manchmal Reis. Gemiise kommt relativ selten auf den Tisch.” Frischgemiise gibt es nur wenig. Den
Fleischkonsum finden sie sehr hoch. ,,In den USA gibt es mehr vegetarisches Essen. Es ist schick, Vegetarier zu sein.”
»In Japan isst man mehr Fisch und man serviert alle Gerichte auf einmal, in Deutsch nacheinander. IN Japan isst man
ganz viele verschiedene Gerichte, pro Person flinf oder sechs. In Deutschland gibt es weniger und sehr viel davon.”

Das kalte Abendessen, so zwischen 18 und 20 Uhr, finden sie typisch Deutsch. In ihren Heimatlandern ist das warme
Abendessen viel wichtiger als das Mittagessen, und in Japan gibt es keine striktere Trennung in warme und kalte
Mahlzeiten. Das deutsche Frihstlick finden die Griechen gut, weil sie normalerweise nur Kaffe trinken. Die Japaner
und Amerikaner finden es langweilig, weil es immer aus Brot oder Brotchen, Butter oder Marmelade, Wurst oder
Kase besteht.

Eine Japanerin meint, ,Die Deutschen essen groRe Stiicke und essen alles auf.” Japanisches Essen findet sie
dsthetisch, weil man nicht nur mit dem Mund sondern auch mit den Augen isst. Die Deutschen genieBen ihrer
Meinung nach das Essen nicht richtig, und die Mahlzeiten sind relativ kurz. An Sonn- und Feiertagen essen die
Deutschen aber oft sehr gut. Generell geht man in Deutschland weniger ins Restaurant. ,Ich glaube, die Amerikaner
gehen dreimal in der Woche essen. Das kann auch zu McDonalds sein. Wenn ein Deutscher essen geht, geht er
einmal in 14 Tagen oder einmal pro Woche richtig essen, vielleicht, weil die Preise sehr hoch sind.” In Deutschland
trinkt man auch mehr Alkohol. In Griechenland trinkt man Wasser, wenn man Durst hat, in Deutschland trinkt man
Bier, Durst zu I6schen. Die Japanerin meint : ,Vielleicht gehort Bier in Deutschland Giberhaupt nicht zu Alkohol.”

1.Der Text vergleicht die Ess- und Trinkgewohnheiten in Deutschland mit den in den USA, Japan und Griechenland.

2. Zu Mittag essen die Deutschen meistens warm.

3. In den USA sind viele Leute Vegetarier, weil es Mode ist.

4. Die Japaner essen nur Fisch.

5. Die Deutschen essen mehr Gerichte als Japaner.

6. Die Deutschen essen zwischen 6 Uhr und 8 Uhr zu Abend.

7. Fir die Deutschen ist das warme Abendessen wichtiger als das Mittagessen.

8. Die Griechen mogen das Deutsche Frihstlick, weil die Deutschen zum Frihstiick nur Kaffe trinken.
9. Flr die Japaner ist es wichtig, dass das Gericht auch gut aussieht.
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10. Ein Deutscher geht nur wochentlich ins Restaurant, weil er das Essen teuer findet.

IV. Schreibt eine Email! 10

Schreib eine E-Mail an deine/en Freund/in. Erzdhle, wie deine Eltern sich getroffen und dann geheiratet haben.
Schreibe zu jedem Punkt ein bis zwei Satze.

- Wie haben deine Eltern sich kennen gelernt?

- Wo und wann haben sie sich zum ersten Mal getroffen?

- Haben sie sich sofort ineinander verliebt?

- Wo und wann haben sie geheiratet?

V. Erganzt den folgenden Text anhand der angegebenen Woérter. 5

(Unterricht, besucht, stressiger, wollten, Backer)

Hallo Pia!
Heute war vielleicht ein _(1) Tag! Ich bin zu spat aufgestanden und musste ohne Frithstuck zur
Bushaltestelle laufen. Zum _(2) kam ich natdrlich zu spat. Nach der Schule bin ich zur U-Bahn gegangen, denn
ich wollte zum Krankenhaus fahren. Dann habe ich meine kranke Tante Olga _(3) . Zu Hause habe ich dann
schnell etwas gegessen und bin dann zu Sara gefahren. Wir _(4) zusammen fiir Mathe lernen. Danach bin ich
zum Basketballtraining gefahren. Als ich endlich zu Hause war, wollte meine Mutter noch, dass ich zum
_(5) gehe und Milch und Brot hole. Da habe ich mich echt geargert. Kommst du morgen Nachmittag zu
mir.
Liebe Grufe

Tina
VI. Erganzt die richtigen Partizipien. 10

(reden, tanzen, lachen, bleiben, anrufen, sehen, vergessen, zuriickkommen, spielen, machen)

A: Also, ich erzahle dir jetzt die ganze Geschichte:

Anna hat am Anfang nur mit Florian ___ 1. Ich glaube sie hat mich gar nicht ___ 2. Ich hatte echt schlechte
Laune, aber dann hat der DJ mein Lieblingslied 3__undin diesem Moment hat Anna mich angeschaut! Wir
haben beide ___4 . Wir haben danach die ganze Zeit miteinander ___5___. Anna ist echt cool!

B: Wann seid ihr denn __ 6 . Du hast mich gar nicht _ 7 ?

A: Tut mir Leid, Ich habees 8 . Und was hast du am Wochenende ___ 9 ?

B: Am Samstag bin ich zu Hause 10___, habe Musik gehort und ein Buch gelesen.

VII: Ergdnzt trennbare Verben! 5

(aufmachen, einladen, aufhéren, aufraumen, annehmen)

1. Alle Geschéfte in Deutschland jeden morgen um 9 Uhr

2. Patrick! Dein Zimmer sieht wie ein Saustall aus essofort
3. Wir diesmal weniger Gaste zur Konferenz

4. Unser Deutschunterricht um 2 Uhr

5. Die Universitaten in Deutschland Bewebungen bis zum 15. Oktober
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VIil. Welche Praposition passt? 5

1. Eine Journalistin arbeitet __ einer Zeitung. a.mit b.bei c.fir

2. Die Freunde gehen zusammen ____ Kino. a.im b.ins c. nach

3. Was machstdu ____ deiner Freizeit? a.in b.im c.von

4.Ichesseum 8 Uhr __ Abend. a.im b.zu c.an

5. Januar kann ich nicht kommen. a.im  b.in  c.am

IX. Was passt zusammen? 5

1. Hast du gehort, a. damit sie gute Noten bekommt.

2. Ich mache eine Sprachreise nach Deutschland, b. hatte ich einen Unfall.

3. Martina lernt fleiRig, c. um meine deutschen Sprachkenntnisse zu verbessern.

4. Jirgen musste viel Milch trinken, d. als er klein war.

5. Als ich 10 Jahre alt war, e. dass Stefan ein Stipendium bekommen hat.

X. Setzt die Verben im Prateritum ein. 10

Ich lebte als einziges Kind bei meinem Vater in der Schweiz. Eines Tages (1) (nehmen) mein Vater mich zu
einem Lehrer. Er _(2)____ (wollen) einen klugen Sohn haben. Ich verliel also meinen Vater und ging in eine
andere Stadt. Ich _(3) (bleiben) ein Jahr bei meinem Lehrer, und er unterrichtete mich jeden Tag. Nach einem
Jahr _(4)___ (sein) der Unterricht zu Ende, und ich _(5)__ (gehen) wieder zu meinem Vater zuriick. Mein
Vater (6)____ (warten) schon vor der Haustiir auf mich. Er _(7)___ (sagen): ,Mein Sohn, du _(8)__ (sein)
ein Jahr lang weg. Was hast du gelernt”? Ich _(9) (antworten): ,,Ich kann bellen wie die Hunde, ich verstehe
jetzt ihre Sprache.” Da _(10)____ (werden) mein Vater sehr zornig.

XI. Bildet Fragen. 5

1. Er kommt heute Nachmittag.

2. Familie Kaiser fahrt nach Bonn.

3. Doch, sie hat einen Hund.

4. Sabine ist eine Freundin von Karin.

5. Meine Email Addresse ist ertg@gmail.de

XIl Was ist richtig? Erganzt das Personalpronomen. 5

1. Max ladt seine Freunde ein. Er ladt ein. a.ihnen b.Sie c. sie

2. Bringt Paul den Kassettenrekorder mit? —=Ja, er nimmt __ mit. a.ihn  b.ihm c.es

3. Klaus schickt seiner Nachbarin eine SMS. Er schickt eine SMS. a.sie  b.ihren c.ihr

4. Sabines Mutter hilft den jungen Leuten. Sie zeigt _____, wie man es richtig macht. a. sie b. ihnen c. lhnen

5. Hi, Paull Komm doch um 3 Uhr zu . a.mich b. mir c. euch
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DELHI PUBLIC SCHOOL BULANDSHAHR

Holiday Homework Worksheet (Session: 2025-2026)

Subject: French
Class: IX

SECTION A (COMPREHENSION ECRITE)
Q.1 Lisez le texte et répondez aux questions.

« Quand vous terminez votre travail,mes éléves, n’oubliez pas mes conseils, rangez vos livres et vos cahiers»
Mme. Mehta pendant le cours en ligne. Mais mon fils Anmol, ne pense pas a cela et ses livres sont partout dans
sachambre. Son pére et moi, nous avons puni (punish) plusieurs fois le petit négligent (careless). Nous lui
répétons toute la journée: « Ne laisse pas la ton dictionnaire. Ramasse (pick up) ton stylo et tes crayons”. Mais
Anmol, qui a huit ans, ne nous écoute pas. A I’heure du cours, il ne trouve pas ses cahiers et quelques autres
livres. 1l cherche toujours en vain (in vain) et n’est jamais au cours en ligne a I’heure. Ne soyez pas comme
Anmol. Notre vie est trop courte pour perdre ainsi (like this) notre temps

A. Répondez aux questions par des phrases complétes :

1. A quoi est-ce que Anmol ne pense pas?

2. Pourquoi est-ce que les parents ont puni Anmol plusieurs fois ?

3. Mme. Mehta, quel conseil donne-t-elle?

4. Qu’est-ce que ’auteur dit a propos de notre vie?
B. Dites « vrai » ou « faux »:

1. Lamere d’Anmol s’appelle Mme. Mehta.

2. Ses livres sont partout dans sa chambre.

3. Il est toujours a I’heure pour ses cours en ligne.
C Trouvez dans le texte :

1. Deux adjectifs ,
2. Le contraire de « nulle part »
Q. 2.Lisez le texte et choisissez la bonne réponse.

Sylvie Dupain était serveuse du café. Méme (even) quand elle était tres occupée, elle observait les gens. Un
jour quand elle servait a deux clients, elle a remarqué qu’un de ces messieurs faisait des gestes (gestures) a
quelqu’un dans une voiture stationnée (parked) en face du café. Apres quelques minutes, ces deux hommes sont
sortis du café et sont entrés dans le magasin de bijoux a coté du café. Quelques instants plus tard, ils en sont
sortis rapidement et ils portaient des boites a la main. Sylvie a vu des bijoux et des montres dans les boftes.
C’¢étaient donc les voleurs !(thieves) Elle a téléphoné vite aux agents de police qui ont arréte les criminels pas
loin de la ville.
A. Répondez aux questions par des phrases complétes :
1. Sylvie, qu’est-ce qu’elle a remarqué un jour?
2. Ou était la voiture?
3. Qu’est-ce que les voleurs portaient a la main quand ils sont sortis du magasin?
4. Sylvie, pourquoi a-t-elle téléphoné aux agents de police?
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B. Dites « vrai » ou « faux »:

1. Sylvie observait toujours les clients de son cafe.
2. Le magasin de bijoux était loin du café.

3. Les agents de police n’ont pas trouvé les voleurs.
C Trouvez dans le texte

1. I'infinitif de « voyait »

2. le contraire de « lentement »

SECTION B (EXPRESSION ECRITE)

Q.3. Décrivez votre journée quotidienne. (en 12-15 phrases)
Q.4. Complétez ce texte a I’aide des mots/expressions donnés ci-dessous :

(repas, en, mon, piscine, végétarien, toujours, foot, amis)

(1) frére est joueur de foot. 1l préfere les exercices (2) plein air, surtout un match de
(3). Il est (4) en forme. 1l est (5). Il prend des (6) équilibrés. Le
dimanche, il joue avec ses (7) et quelquefois, il va a la (8).

Q.5. Ecrivez un message pour votre cousin lui informant que vous ne pouvez pas venir a son
anniversaire.(35-40 mots)
Q.6. Votre ami/e vous a invité voir un film francais. Rédigez ce message.

Q.7. Votre ami/e vous a invité pour aller au concert. Ecrivez un message pour accepter son invitation .
SECTION C (GRAMMAIRE)

Q.8. Conjuguez les verbes aux temps convenables :

1.Aprés mes examens, je (travailler) dans un magasin.

2.Tous les mercredis, ils (aller) a la piscine et ils font de la natation.
3.Hier a midi, nous (manger) du poisson et des frites

4.Quand il était petit, il (adorer) les dessins animes.

5.Ce soir, nous (regarder) un film au cinéma.

6. Chaqgue été, vous (partir) en vacances en Bretagne.

7.La semaine derniére, tu (faire) un gateau au chocolat.

Q.9. Complétez les phrases avec les prépositions qui conviennent:

1.Le professeur est le tableau noir. (a/ en / devant)

2.Allons __ mon oncle a Goa. (a/ de / chez)

3.Mes parents habitent _ Espagne. (au / en / dans)

4.Je me suis bien amuse mon séjour a Paris. (chez / pendant / depuis)
5.Elle va écoleen bus. (a/au/en)

6.Nous sommes arrivés Italie hier soir. (a/ en/ dans)

7. Il est assis la table. (sous / sur / entre)

8.Mon ami habite moi, dans le méme immeuble. (pres de / autour de / a cété de)
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Q.10. Choisissez le bon mot interrogatif et Complétez les questions:

1. es-tu en retard ? (Pourquoi / Quoi / Combien de)

2. C’est , cette robe ? (qui / combien / quand)

3. mettez-vous votre assiette ? (Combien / Combien de / Ou)

4. tu fais ce week-end ? (Ou / Comment / Qu’est-ce que)

5. arrive a la féte en premier ? (Qui / Ou / Comment)

6. tu veux manger ce soir ? (Pourquoi / Que / Combien)

7. commence le film ? (Ou / Quand / Quel)

8. de personnes y a-t-il dans la salle ? (Combien / Comment / Quoi)

Q.11. Mettez les phrases données au négatif.
1.il y a quelqu’un dans le couloir.

2.J’ai vu tous les films de cet acteur.

3.Nous avons mangé de la viande et des légumes.
4.J’ai déja mis le couvert.

5.Elle voit toujours ses amis le week-end.

6.Nous avons acheté quelque chose au marché.
7.11'y a encore du lait dans le frigo.

Q.12. Complétez avec les adjectifs démonstratifs:

museée est plus vieux.
Ecoutez les nouvelles chansons, sont plus mélodieuses.
_______garcon est trés mignon.
Regarde affiche au mur.
Je préfere acteur que celui-la.

robes sont en solde cette semaine.

Tuasvu immeuble moderne ?

étudiante est trés brillante.

O N koD

SECTION D (CULTURE & CIVILISATION)
13.Remplissez les blancs avec la bonne réponse.
1.Le_ estune sorte de soupe.
a.vin b. monument c. potage d. légume
2. Le dimanche les enfants aiment se lever
a. tard b. en retard C. en avance d. tot
3. Le matin on prend

a. le petit déjeuner b. le déjeuner c. le gouter d. le diner
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4. La sceur de ma meére est ma

a. tante b. cousin C. cousine d. grand-mére
5. Le est un repas familial.

a. le petit déjeuner  b. le déjeuner c. le goQter d. le diner
6. Nous allons a la en ete.

a. plage b. club c. jardin d. parc

7. Apres le repas on mange

a. vin b. dessert C. potage d. légume
8. Nous devons les vieux membres de la famille.
a. boire b. métier c. aider d. emploi

Dites vrai ou faux :

9. Le frére de mon pére est mon cousin.
a. vrai b. faux

10. Le godter est un fromage francais.
a. vrai b. faux

Q.14. Répondez aux questions.
1.Nommez des objets de votre sac.

2.Que faites-vous le soir?
3.Que prenez-vous pour votre petit déjeuner?
4.Quelle est votre nationalité?

5.A quelle heure vous réveillez-vous ?
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DELHI PUBLIC SCHOOL, BULANDSHAHR

Practice Sheet (Session:2025-2026)
Subject: JAPANESE

Class: IX
» General Instructions:
» Read the questions carefully.
» Attempt all the questions.
XS( ) I VOBAE % LNKFEL LS, Fill in the blanks.
Ql. F&5L2 12 WWF & 2Kz HYFET,
1. M 2. & 3. & 4. T
Q2. B">Z5 M FxR_ = IH5FRA B BYEFET,
1. % 2. Ic 3. M 4. B
Q3. FWWTA T HWWIKY—L_ MLFELT,

1. T 2. % 3. IZ 4. M
Q4. BiEh_ WWEWLTY,

1. % 2.~ 3. % 4. B
Q5. ELbSA [F YEdY_ L&59TY,

1. A 2. I 3. % 4. #
Q6. H#ATE WLWoTH, bizL __ WEFHA,

1. 12 2. M 3. (& 4. T
Q7. < RA & t=hLy T,

1. H50\bE 2. 1=<ZA 3. &T% 4. bko&
Q8. ¥H#FEHA. TADh & TYI .

1. Zh 2. ITh 3. £C 4. TAL
Q. Le<lfly &2 _ = Mo THAUY & #FT,

1. LET 2. 9% 3. LT 4. Lfzby
Q10. £5%. f=RT &L,

1. &1 2. &£TH 3. beo&k 4. z{ XA

Read the passage and choose the correct answer from options of question that follow?

=L [T hESTA O 5B ~ HEUWIZ WEFELEz, HhESTAD 5BFT TAL®
T 1LAMATY, BT % {H-oTLWELEDN. #B5 & bHbIhFElLlz, #B5 T HALGOUVE
2 EEFFELz, BALBODUVE (X &TH LAEDTLEz. hizL & Lo L&IZ MhESTA
D 2B FT WFELE, hES3TA O BLESA & YoYU N
C&5FTTE, WAWARIZIFAY £5Y & DKYFELF, FLHT TFPE %
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f=RFELF=, ETEH BLLMDTY., LKL A BbhoThic, WAL
FZLFELI, DD T—0V0—% ODOAHFELE,

QUAMESTA D 5BFET TAL® T EDOCHLY MY ETH,
A) 2 LhA B) 1 LAA C) 3LHAA D)4L A A
QLR2.COVE [F I & £2T WEFELED,

A #Y B)HY C) MEA D) &
QUI3MESTA D 5BT FLHT HIT % F=RFLED,

A) TASDL B) 9L ) JEPE DEYI=KL
QU.BADOVLE & £5 TLEM,.

A) E L B) LAED ¢ EULWL D)LYEA L LY
Ql5.#4L & HINFELE=ML, #5 T fEhic EFEFLTE,

A ZEL B) M7ELY OBELEIDVE DBALTDVE

There are four words in each line. One word is different from the others in some way. Find the odd one
out and write in the answer sheet.

Ql6. VoM MN=hig AL MACLKZ
Q17. IZIFA WA E L 5K MACKL

Change the words in the ( ) into their appropriate forms. You may write only the answer in the
answer sheet.

Qa.bf=L & [C[FA B FAD ZE(EHFT-= ) =L T,

Q19.c®» MAL & (BEZFET= ) 2KV TY,

Q20.&£¥b 1L & (FBELFET= VEM B, ZALD E HFET,

MA L. (script)
Please write the underlined hiragana in kanji
Q21. F2&35U [F IZFEACD LIFATITH,

Q22. ruMEA & ZWWIT O HAEBWTT, .
Q23. HzLIF HEEH VLT IZIFAT & RATFLILTLET,

Please write the underlined kanji in Hiragana.

hirv: 12FA CA
Q4)ht=L [ BEX ~ WEELWTT, 0
nwzzA & §% oUzlvTtd, 0

Q25. Fill in the blanks with appropriate words from the box given below.

[Fo<. o< Y, b&ok,
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1.
2.
3.

Q26.%H % 1=

FHERAN, BHELT <EEL,
EELVATEAR, VE BAL TTH.

(XIE

[ w23 LsIEFA

BEFT,

@ L 2L & SbLV(Self-Introduction)ZE MWLV T < F=&Ly,

Q27. H1= LD MZ { (My FAMILY)IZDWVT S RA(Essay)d MWLVTL FZELN

Q28.Please read the passage and answer the questions given below.

A A

NAEELEOLT

,
2
3.
4
5

. EBASA
. EBASA
FLEfzb
=5AZA

X WE LBRATWLTT, E&hA
WET, ICZIFAZ
nALWSLEST, DS
LG TIEHEWTFEEAL, 1 &
HoWELREA, MAL
EFEFELR, b6, ELELD A~ VT, MAL D
HELZ, HAZA

[ZIFAC

F sLvhA B

[ZIFAC
[ZIFAC
7z %

(&
(&
(&
(&

LWohib
EC T
YRV AV Y
T LhA

Q29. & oh'L Reading comprehension.

WWELE, EH5ATA
[Z2LWT #IZH bhhYFEA, TIHDL, BAEL
FA & MYT. AT

CIFAC B RAZTEES & LFET,

F Voh%

Mo HMoZ3 T
[F £TH BLLBLTT. FVIE35TSH

D BARVE (BLRA 1D HAL O RAELSH
& bhlpi %
RERY

[ZIFAC

T RNAETEILTLETD,
E RNAETEILTLETD,

NAEEILETH,

- HARAEWLTLED,
D ZIEAS O RAZT LS X ESTITH.

1z

z

Please read the following passage and write true (O) or false (x) in the brackets given.

x5 & HE LB HO N 55T LWEFT, WE #BE L FA TY,
H=L [ BE—(AU—) I WEY, LT THhY % #T LFET, bfzL &
FLHE 7LHhL TLE % #HFET, 7USA I LARA & KAT

WET, Y—SA & FED BN T ISIFAS & RAZFLSLT LVET,
FWHE 9L »n LIFA A HYFET, U—ZFA [ LWod LK RAELET,
AU— -LOBBY

n:FES X ELL TT. (X)

W& 7LCIFA TY (0)

(1) &5 X & TI, ()

(2) L ¥ LARA & AT WET ()

(3) =L ¥ WE BE(AU0—) T THY % &F9F., ()

(4) Y—ZA [T Z2E5LD T [ZIFAS & RAZTES5LT WEF, ()
(5) FLWwHE 10L M LIFA A HYFEFITH,
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DELHI PUBLIC SCHOOLBULANDSHAHR
Practice Sheet Class IX
Sub - Information Technology

SECTION-A
Q1. Multiple Choice Questions :

1. “Restraining self in provoking situations” refers to ........... self-management skill.
a. Self-motivation b. Self Control c. Self Regulation d. Self Awareness

2. “Having an attitude on focussing on good in all types of situations” refers to ........ self-management skill.
a. Self-motivation  b. Self-Control c. Time Management d. Positive Thinking

K TS are the areas that hold us back and bar us from performing at full-potential.
a. Strengths  b. Weaknesses c. Interests  d. Abilities

4. Positive thinking means ............
a. Finding positive in all situations b. Shutting up negative voices in head c. Treating failures as lessons d.
All of these

5, brings brain to a peaceful stance and increases performance.
a. Positive Thinking b. Self-Motivation c. Staying Happy d. Confidence

6. Which of the following is a quality of a self-confident person?
a. Patient b. Compassionate c. Committed  d. Passionate e. All of these

7. The quality of being relied open or able to be counted on is ................
a. Teamwork b. Dependability c. Accountability d. Leadership

8. Dressing and grooming are important because they help us to look ............
a. Smart b. Untidy c. Shabby d. All of the above

9. Which of the following is not an ICT tool?
a. Mobile Db. Tablet c.Laptop d. Email e. Solar Lamp

10. What is a short-range wireless communication technology called?
a. Wi-Fi b. Internet  c. Blue Tooth  d. None of these

11. The physical components of the computer system are called ........
a. Software Db. Hardware c¢. Firmware d. Liveware

12. Which of the following is responsible for controlling the execution of instruction in CPU?
a. ALU b. Control Unit c¢. Primary Memory d. Secondary Memory

Q2. Tick the correct option :

1. Which of the following is not an input device in a computer?
a. Keyboard b.Mouse c.Monitor d. Microphone

2. e shows the icons of all open windows and applications.
a. Documents Folder b. Start Button c. Taskbar d. Desktop
3 can contain other items like itself inside it.

a. File b. Folder c. Icon d. Taskbar

4. Afile deleted from a folder in Windows OS goes to .......
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10.

11.

12.

a. Recycle bin b. Computer c¢. Windows Explorer d. Permanently Deleted

It is the business practice of hiring a third party to provide some required goods or services, while focusing on
core work inhouse.
a. IT b. Outprocessing c. Outsourcing d. Contracting

............ services mean performing business operations through an outside service provider.
a. BPM b. MNC c. ISP d.BPO

The full form of BPM is ...........
a. Business Process Manager b Business Process Management c. Business Protocol Management d. None
of these

Companies which are subsidiaries of own company to provide exclusive special services to own company are

a. MNCs bh. ISP c. GIC d. All of these

The outsourced services mainly focusing on knowledge based activities such as data analytics, marketing
research etc. are known as ...........
a. BPO b. RPO c¢. KPO d. CRM

ITeS is also called ...... that cover the entire operations which exploit Information Technology for improving
the efficiency of an organisation.
a. Web-enabled services b. Webpage c. Computer Services d. Business

There should be at least ..... cm of distance between you eyes and the screen.
a. 40-50 b. 60-65 c. 90-100 d. 75-80

Which of the following is a valid file extension for Notepad file? Tick mark the correct answer.
a. .Jpg b. .doc c. .text d. .txt

SECTION-B

Q3. Very Short Answer Type Questions :

1.
2.
3.

What is self-management? Name two skills of self management.
What is the difference between copying and moving files are folders? Write their short cuts also.
Differentiate between a web browser and web server.

SECTION-C

Q4. Short Answer Type Questions :

1.
2.
3.

Write all the functional units of a computer system. Explain the functions of three units of CPU.

Describe the four components of a Website.

An increasing number of people use e-mail(electronic mail) as a method of communication. For many of these

people it is gradually replacing other means of communication such as fax, telephone and post. A. Explain

what is meant by the term e-mail. B. Give one advantage of using e-mail compared to using post. C. Give one

disadvantage of using e-mail compared to using post. D. Name the websites offering free mailing services.
SECTION-D

Q5. Long Answer Type Questions (see the sub parts also):

1.

2.

Why do we need secondary memory? Give two examples of secondary storage devices with their capacities.
Give two differences between Primary Storage and Secondary Storage.
Explain the term Blog and Blogger? Give examples of four types of Blog. Explain any two types of Blogs.
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